

$$x \rightarrow 0^+ \rightarrow x^r \rightarrow x^r \cdot x^{-r} = 1 \rightarrow x^r + a \ln x + b = 0^+$$

$$(x-1)^r = x^r + a \ln x + b \rightarrow b = r \quad a = -r \quad a+b=0 \quad \checkmark$$

(٢)

$$x = \sqrt[3]{x} \rightarrow x^r + a \ln x + b = 0^+ \quad (x - \sqrt[3]{x})^r = x^r + a \ln x + b$$

$$a = -r \sqrt[3]{x} \quad b = \sqrt[3]{14} \quad \left[\frac{2}{3} \right] = \frac{\sqrt[3]{14}}{\sqrt[3]{-14}} = -1 \quad \checkmark$$

(٢)

$$x \rightarrow \frac{1}{\sqrt{x}} \rightarrow \frac{\sqrt{x}}{x} \times x = \frac{\sqrt{x}}{x} \times \frac{1}{\sqrt{x}} = \frac{1}{x} \rightarrow \frac{a-1}{\frac{1}{x} + a} = -\infty$$

$$\downarrow \left[-\frac{1}{x} \right] = \left[-\frac{1}{\sqrt{x}} \right] = -1 \quad \left| \frac{1}{x} + a \right| + a$$

$$\textcircled{1} a < \frac{1}{x} \rightarrow \frac{a-1}{-\frac{1}{x} + a} = \frac{a-1}{-\frac{1}{x}} = -\infty \quad \text{منهني اس -1 ميسر -1}$$

(٢)

$$\textcircled{2} a > \frac{1}{x} \rightarrow \frac{a-1}{\frac{1}{x} + a} = -\infty \rightarrow \frac{1}{x} + a = 0^+ \rightarrow a = (-\frac{1}{x})^+ \rightarrow \left[a \right] = \left[-\frac{1}{x} \right]^+ = -1 \quad \checkmark$$

$$x \rightarrow -\frac{1}{x} \rightarrow x^r < \frac{1}{x} \rightarrow \frac{1}{x} > x \rightarrow -\frac{r}{x^r} < -1 \rightarrow \left[-\frac{r}{x^r} \right] = -1$$

$$\downarrow \frac{x}{x^r} > 1 \rightarrow \left[\frac{x}{x^r} \right] = 1$$

$$\lim_{x \rightarrow 0^+} \frac{14x - \left[-\frac{r}{x^r} \right]}{\ln x + \left[\frac{x}{x^r} \right]} = \frac{-14 + 1}{-14 + 14} = \frac{1}{0^+} = \infty \quad \checkmark$$

(٢)

$$\lim_{x \rightarrow 1^+} \frac{x^r - r}{x^r - \left[x^r \right]} = \frac{r-1}{r-1} = \frac{r}{1} = \frac{1}{r} \quad \checkmark$$

(٢)

$$\lim_{x \rightarrow -1} \frac{x^r + a \ln x + b}{1 + 4\sqrt{x}} = \frac{r+10}{1} = -4 = \frac{-4}{1} = -1 \quad \checkmark$$

(٢)

$$\lim_{x \rightarrow 0^+} \frac{\sqrt{x+1} - \sqrt{x-1}}{\sqrt{1-\cos x}} \times \frac{\sqrt{1+\cos x}}{\sqrt{1+\cos x}} \times \frac{\sqrt{x+1} + \sqrt{x-1}}{\sqrt{x+1} + \sqrt{x-1}}$$

$$= \frac{(x+1) - (x-1)}{(1-\cos x)(\sqrt{1+\cos x})} = \frac{2}{2\sqrt{x}} = \frac{1}{\sqrt{x}} = -1 \quad \checkmark$$

(٢)

Arman

$$= \sqrt{\sin^2 x} = |\sin x| = -\sin x = -x$$

$$\cos n \sim 1 - \frac{n^2}{2} \quad \cos \sqrt{n} \sim 1 - \frac{(\sqrt{n})^2}{2}$$

$$\lim_{n \rightarrow 0} \frac{K + \cos(\sqrt{n})}{Kn^2} = \frac{K + 1 - \frac{(\sqrt{n})^2}{2}}{Kn^2} = \frac{K + 1 - \frac{n}{2}}{Kn^2} \rightarrow K + 1 = 0 \Rightarrow K = -1$$

$$\rightarrow \frac{-\frac{n}{2}}{Kn^2} = \frac{-1}{2K} = \frac{1}{4} \Rightarrow K = -4 \quad \frac{1}{K} = -4 \quad \checkmark$$

(Y)

$$\lim_{n \rightarrow \frac{1}{4}^+} \frac{\sqrt{n - \frac{1}{4}} + \sqrt{n} - \sqrt{\frac{1}{4}}}{n^2 - \frac{1}{4}} = \lim_{n \rightarrow \frac{1}{4}^+} \frac{\sqrt{n - \frac{1}{4}}}{n^2 - \frac{1}{4}} + \frac{\sqrt{n} - \sqrt{\frac{1}{4}}}{n^2 - \frac{1}{4}} = 0 \quad \checkmark$$

$$= \frac{\sqrt{n - \frac{1}{4}}}{\sqrt{n - \frac{1}{4}} \sqrt{n + \frac{1}{4}}} + \frac{\sqrt{n} - \sqrt{\frac{1}{4}}}{\sqrt{n - \frac{1}{4}} \sqrt{n + \frac{1}{4}}} \times \frac{\sqrt{n} + \sqrt{\frac{1}{4}}}{\sqrt{n} + \sqrt{\frac{1}{4}}} = \frac{1}{\sqrt{n + \frac{1}{4}}} + \frac{(\sqrt{n} - \sqrt{\frac{1}{4}})(\sqrt{n} + \sqrt{\frac{1}{4}})}{\sqrt{n - \frac{1}{4}} \sqrt{n + \frac{1}{4}} (\sqrt{n} + \sqrt{\frac{1}{4}})}$$

$$= \frac{1}{\sqrt{n + \frac{1}{4}}} + \frac{\sqrt{n - \frac{1}{4}}}{\sqrt{n + \frac{1}{4}} (\sqrt{n} + \sqrt{\frac{1}{4}})} = \frac{1}{\sqrt{4a}} + 0 = \frac{1}{\sqrt{4a}} \quad \checkmark$$

(Y)

$$\lim_{n \rightarrow -1^+} \frac{1+K}{n^2-1} = \frac{1+K}{0^-} = -\infty \rightarrow 1+K > 0 \Rightarrow K > -1$$

$$\lim_{n \rightarrow -1} \frac{1-K[n]}{n^2-1}$$

$$\lim_{n \rightarrow -1^-} \frac{1+K}{n^2-1} = \frac{1+K}{0^+} = -\infty \rightarrow 1+K < 0 \Rightarrow K < -1$$

$$K < -\frac{1}{p}$$

$$\rightarrow -1 < K < -\frac{1}{p} \rightarrow -\frac{1}{2} < K < -\frac{1}{p}$$

(Y)

